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Instructions to Candidates

Read the instructions carefully before you start
answering the questions. Answers are to be given on a
separate Answer-Sheet provided.

1. In this Paper you are to answer 90 questions.
Each question carries one mark.

2. Find out the correct answer to an item given
in the test booklet out of alternatives @, @, @

and @ and puta cross-mark inside the circle @

surrounding the corresponding correct answer to the item
in the Answer-Sheet.

Example : @, ®, @, @
(Here ‘b’ is the correct answer.)

3. Itmay be presumed thatthe answer given by you
in the first attempt is incorrect and you want to revise
your answer. Blacken the circle completely and then put
across-mark afresh inside the circle you think right. You
are not, however, permitted to revise your answer more
than once in each case.

4. However, there will be no penalty marks for a
WIONg answer.

5. You are to start recording answers with the
word ‘start’ from the Officer-in-Charge of your room/hall.

6. You are to write your name and Roll No. in the
space provided for this purpose on the Answer-Sheet
and Roll No. only on the cover-page of the Question
Booklet. Do not write your name in any part of the
Question Booklet.
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Mathematics

1
(x+

1. Ifx*+ x =3, the value of (x + 3)* +

18 3
(a) 120
(b) 130
(c) 105
(d) 110

X A
If(x’ _3)) _ya then(Y9 }) =
(a)

(b) =

(c) 1
(d) xy
3. The value of 1+(2+1)(22+1)(2*+ 1)
¥+ 1R+ 22+ 1)is

(a) 232
(b) 216
(C) 264
(d 2°

l\)|\<l\)\<l\)| =

4. If the number “21y5” is the multiple of 9,
where ‘y’ is a digit, the value of y

(a) 4
(b) 3
(c) 2
(@ 1

5. f(x+y)Y-(x—y)Y?=44and x<y<0, the
integral values of x and y are respectively
(a) —11,-1
(b) —1,-11
(c) 2,-11
(d -11,-2
6. The value of (1-1) (1-—) (1--1)
1N
....... (1-—-)is
1
@
1
(d) 5,
a-1
() 2a
2
(@ 55

[3]

affire

X+x=53 (x+3)° +
(@) 120
(b) 130
(c) 105
@ 110

1
(x+3)?

-4 NI

?ffﬁ(i,zy)=’y—c®,w(§,,y—c)=
(a) )

(b) =

(©) 1

(d) xy

3. 1+Q+ D@2+ D2+ 128 +1) 25+ 1)

2%+ 1) @334

(a) 232

(b) 216

(C) 264

d 2°

4. M “21y5” MAT 993 @ wfdes =3,
@A y 90 OF, ©F y-43 A
(a) 4
(b) 3
() 2
d 1

5. (x+y)P’-(x—yP=4Manx<y<0zE= xS
V-4 PRI TG
(@) —11,-1
) —1,—11
© -2,-11
) —11,-2

6. (1-H-—pU-—....0
-qg A

@ 1
®) 2
(©) %

d 2%

1
_a+a)




c+a

—C
5

a

7. If by 2 =landa—b+c#0,

1

(@) 1
) -1
© 0
@ 1

the value of

8. July 3, 1977 was a Sunday, then July 3,
1970 was a

(a) Wednesday
(b) Friday

(¢) Sunday
(d) Tuesday

9. If x=997, y=998, z=- 1995, then the
value of x* + y* + 7* — 3xyz is
(@ 0
() 1
() -1
(d 3

10. If a* + a*b® + b* = 8 and a® + ab+b* =4,
then the value of a® + b? is
(@) 2
(b) 3
(c) 4
(d 6

11. If P is greater than Q by 60% and greater
than R by 30%, the ratio of Q and R is
(a) 1:2
(b) 2:1
(c) 13:16
(d) 16:13

12. The average marks of boys and girls in a
class is 52 and 42 respectively. The average marks
of the whole class is 50. The percentage of boys in
the class is

(a) 60%
(b) 75%
(c) 80%
(d) 90%

[4]

=19Ra-b+c=0

7. ﬂ.ﬁa;b_'_b;c_i_cza
WO L — 5 — L A

(@ 1

(b) -1

(© 0

@ !

8.
ezt

Tz 3, 1977 foe1 3719, 9@ w1 3, 1970

(a) JH
(b) wwara
(c) ==
(d) =e[E

9. x=997,y=998 4 7 = — 1995 ZF *+ 1> +
7 —3xyz -4 A
(@ 0
(b) 1
() -1
d 3

10. IWMa*+a’h* + b*=8 dR > + ab+b* =4
©@ a* + b* 93 W
(@) 2
(b) 3
(c) 4
(d) 6

11. P, Q-93(AcF 60% @R R-97 (24 30% I2&d
T Q @R R-93 Teolie
(a) 1:2
(b) 2:1
(c) 13:16
(d 16:13

12. @36 @fdce e @R AT 2 T9EG
G TAGE 52 G2 421 @ @f9q 7T gemaime 51
99 50 3@, (@fAre Aowql T Wiz

(a) 60%
(b) 75%
(c) 80%
(d) 90%




13. 34 is divided into two parts in such a way
that %th of one part is equal to %th of the other
parts. The numbers are

(a) 21,13
(b) 13,21
(c) 20,14
(d) 14,20

14. At 8 O’Clock in the morning, if the value
of smaller angle formed by the hour-hand and
minute-hand of the clock be (3x + 3)°, the value
of x is

(a) 39
(b) 40
(c) 80
(d) 79

15. The HCF and LCM of three numbers are
6 and 420 respectively. If two numbers be 12 and
30, the third number is

(a) 21
(b) 18
(c) 42
(d) 70

16. If (x> —1) cm, (x> + 1) cm and 2x cm are
the sides of a triangle, its greatest angle is

(a) 75°
(b) 60°
(c) 120°
(d) 90°

17. InAABC, AC=BCand ZABC =50°. The
side BC is produced upto D so that BC = CD. The
value of ZBAD is

(a) 90°
(b) 60°
(c) 75°
(d) 120°

[5]

13. 34 & 9z7l 7o =k Row 71 261 @« 907
5 wicel Sotafbar 2 SReAa AT 21 R D %
(a) 21,13
(b) 13,21
(c) 20,14
(d) 14,20

14. 5 8517 7T Wfed 9% @k fifqda FoE
TRYE Fued (@fF AW (3x + 3)° T x-9F W=
(a) 39
(b) 40
(c) 80
(d) 79

15. foaf 4@ oM., € TS, JANTE 6 93]
4201 M qura e 9o A 12 @8 30 = O PO
TR 2T

(a) 21
(b) 18
(c) 42
(d) 70

16. IW @30 fagrea A=l (x> — 1) cm, (x> + 1)
cm @38 2x cm ¥, O fageita gzen @t 2@
(a) 75°
(b) 60°
(c) 120°
(d) 90°

17. AABC-93 AC=BC @3k ZABC=50°.BC
T D oI wsmesl 9 41 =1 @ BC = CD @@ |
/BAD-93 99

(a) 90°
(b) 60°
(c) 75°
(d) 120°



18. The difference between the exterior angles
of two regular polygons of side x and (x + 1) is 5°.
Then x is equal to

(@) 3
() 5
(c) 8
(d 9
19. ZB of AABC is right angle and D is the
mid point of side BC. Then
(a) AC<AB
(b) AB<AD
(c) AB=AD
(d) AC<AD

20. The perimeter of a right-angled isosceles
triangle is V2 (\/2 + 1) meters. The length of the
hypotenuse is

(@ V2m

(b) 2m

(©) V2+1)m
(d) 4m

[6]

18. x @} x+1 = [EHG wb T Izgrew
IRLCHICET TF 5° B x-4F T B

(@) 3
(b) 5
(c) 8
(d 9

19. AABCT /B @9 @3k D, BC 3IR=F
NG | 7
(a) AC<AB
(b) AB<AD
(c) AB=AD
(d) AC<AD

20. @3 @A wedr  fGorem SRS
V2 (V2 + 1) 5o | sifoweioea e 2@

(@ V2m

() 2m

) \\2+1)m
(d) 4m



21.

Physical Science

The wvalue of ‘“absolute zero of

temperature” in the Celsius scale is

22,

23.

24.

(a) 0°C
(b) 32°C
(c) 273°C
(d) -273°C

Energy in the Sun is produced by
(a) Nuclear Fission

(b) Nuclear Fusion

(c) Chemical Process

(d) Radioactivity

Solar eclipse occurs when,
(a) The earth comes between the sun and
the moon in a straight line.

(b)

The moon is at right angle to the
earth.

The moon comes between the earth
and the sun in a straight line.

(©

The sun comes between the moon and
the earth in a straight line.

(d)

Two bodies are in thermal equilibrium.

They have identical

25.

(a) thermal capacity
(b) specific heat
(c) mass

(d) temperature

At what temperature the density of water

is the maximum?

(a) 0°C
(b) 4°C
(c) 10°C
(d) 20°C

[7]
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23.

24.
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(a) el
(b) oIS ©iet
(c) &2

(d) Il
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(a) 0°C

(b) 4°C

(c) 10°C

(d) 20°C



26. Which one of the following liquids has the 26. fisfeiive wwmelr @Hba it sl

maximum specific heat? TS ?
(a) Mercury (a) “rm
(b) Kerosene (b) GERIBH
(c) Water () o=
(d) Milk (d) 7
27. When the temperature of a metallic wire 27. @I o] O Trew ﬁf% Colts, @3 (Y
increases, its resistance will (a) 3% AW
(a) increase (b) 27+
(b) decrease (€) &< A

(c) remain constant (d) 2w I (AW I g A

(d) increase initially, then decrease

28. If the formula of the chloride of a metal is 28. @=f6 @fed @R WS MCL, SR
MC, then the formula of the sulphate of that metal Qo6 AT PO B
will be (a) M(SO,),
() M(SO,), (b) M,(SO,),
(b) M,(SO,), (©) M,(S0,),
(© M,(50,), (d) azfr @EDe a7

(d) None of these

29. In aqua regia, the ratio of conc. HCL to 29. syl o 9 HCL @<k 99 HNO 43
conc. HNO, is wpeyofiofb 251
(@) 3:1 (a) 3:1
(b) 1:3 (b) 1:3
(© 2:1 (c) 2:1
(d) 1:2 (d) 1:2
30. The melting point of a body is 0°C, in 30. @ TS SR 0°C 2 PIANRIRG (N O
Fahrenheit scale it will be B
(a) O°F (a) O°F
(b) 5°F (b) 5°F
(¢) 32°F (c) 32°F

(d) 212°F (d) 212°F
[8]



31. The velocity of radiant heat is 31. ffeae Aafere ©ist AT sifsaal

(a) 3x10" m/s (a) 3x10" m/s
(b) 3x10° m/s (b) 3x10° m/s
(c) 3x10% m/s (c) 3x10°m/s
(d) 3x10" m/s (d) 3x10" m/s
32. The potential difference across a 32. @I fRIZR 7-2iteq [Red drem so (SFFG
conductor is 10 volt. if ImA current passes @3 &A@ 1mA T, @Rl @i 2=
through the conductor then the resistance of the (a) 10KQ
conductor will be (b) 10Q
(a) 10 KQ (C) 100 Q
(b) 10Q (d) 1000 Q
(c) 100 Q
(d) 1000 Q
33. A lead pencil contains 33. TG (oA QA
(a) lead (a) To
(b) iron sulphide (b) SR AITFIZE
(c) phosphorus (c) e
(d) 2RFED

(d) graphite

34. Water is used as a coolant because it is 34. Fredilas A et gz 28 P @b
(a) Expensive @) IT

(b) Easily available (b) EEETe)
(¢) Good conductor of heat (c) St ol Al

d) T oS ©iet Tl
(d) of high Sp. Heat (d) ©

35. An electroscope is an instrument which is 35. EEICEA 1E8l T9Te W
used to (a) G I/CS ST ey e
(a) detect the presence of charge of a (b) TERGT (AR S
body (c) T2a ofTelue Seom 217 &
(b) view electrons (d) @azfm @wHe T

(c) produce an electrostatic charge
(d) None of these

36. It Soifge el =

36. The elements present in marble are

(a) C,0,H (a) C,0,H
(b) Ca, O,H (b) Ca, O,H
(c) Ca,C,0O (c) Ca,C, 0O

(d) Ca,C,H (d) Ca,C,H
[9]



37. The Acidity of Calcium Hydroxide is 37. SRR 2RGARCT THALO! 25

(@ 5 (@ 5
(b) 1 (b) 1
(c) 2 (c) 2
d 4 (d) 4
38. Whichis an organic green house gas of the 38. fsfowlm @G @ (o AT 2T sumi?
following? (a) CH,
(@) CH, (b) CO,
®) €O, (c) CO
(©) €O (d) NH,
(d) NH,

[10]



Life Science

39. Which of the following is not the correct
pairing of structure with function?

(a) Golgi Complex : breakdown of
complex molecules

(b) Mitochondria : production of ATP

(c) Endoplasmic reticulum : synthesis of
proteins

(d) Plastids : photosynthesis

40. Which type of tissue forms the inner lining
of a blood vessel?
(a) Epithelial
(b) Connective
(c) Nervous
(d) Muscle

41. From which portion of the cotton plant, the
cotton is produced?
(a) From the stem
(b) From the leaf
(c¢) From the seed coat
(d) From the flower

42. Extract of which plant portion is taken with
honey cure common cold & cough?

(a) From leaves of Neem

(b) From leaves of Tulsi

(¢) From bark of Cinchona

(d) From stem of Sarpagandha

43. The tissue with more or less elliptical, thin
walled cells having intracellular space is known as
(a) Parenchyma tissue
(b) Collenchyma tissue
(c) Sclerenchyma tissue
(d) Xylem tissue

44. Why the water is cooled down after boiling
for the use of experiment on seed germination?
(a) To germ free the water
(b) Toremove the nutrients from the water
(¢) Toremove the CO, from the water
(d) Toremove the O, from the water

i e

39. Swd @G 5109 € T Gy AT (SIS 73 2
(a) o7 3G ¢ GiveT weF freTE
(b) WRGE 2 ATP Seofima
(c) GrTIAGHRT TaF ¢ (AT AR
(d) 2AME 2 AARRER

40. (I EEE T TG TLeBI o T 2
(a) <IN Tl
(b) 5t Fei

(c) wR T
(d) cort =1

41, OAI AACEI @I S (A 9Tl SAW | 23 2
(a) e (A
(b) #el (A=
(c) & TF (A=
(d) T =

42. @ Sferike T Sg= 10 e A AR
A @ FIfFT Topiw 27 2
(a) TG =ire™
(b) oI SAred
(c) PREWE IFE
(d) FAformia e

43.  ORG TrigeR, 7l (bR <R Se-CPRI
FIW TS (@ 7R 95 FAE A
(a) ACITRIZ T
(b) I F
(c) CFETII T
(d) wizeET S

44. @ NEF SFEMAER AT T@l FHE Il
TA (G R 2
(a) T GRIYTE FAI Gl
(b) @& (A AR oIl AR T
(c) & @l CO, ToPAEe &e)
(d) & (Sl O, ToPHECE &)

[ 11]



45.

If ingradients like Copper sulphate, water

& a tea-cup is provided to you. What experiment
you may perform with these ingradients?

46.

47.

(a) Osmosis
(b) Diffusion
(c) Absorption
(d) Conduction

Which vein carries only oxygenated blood?
(a) Hepatic Portal vein

(b) Renal Portal vein

(c) Hepatic vein

(d) Pulmonary vein

In man right auricle receives the

deoxygenated blood but in toad which portion
receives the deoxygenated blood?

48.

49.

50.

(a) Right auricle
(b) Sinus venosus
(¢) Truncus arteriosus
(d) Sinuauricular pore

How many cranial nerves are there in Toad?
(a) 12 pairs
(b) 13 pairs
(c) 10 pairs
(d) 11 pairs

Passage cell present in
(a) Epidermis

(b) Hypodermis

(¢) Endodermis

(d) Pericycle

The largest digestive gland present in human

digestive system is

(a) Liver

(b) Salivary gland
(c) Gastric gland
(d) Pancreas

45. I THFR9 TN FAR AT, T Q3R GH0
B 9 (ONIE e 27, OIRCE G291 SoAFael faew
OfSl @ AT T AR ?

46.

47.

(a) SPIGIFPT A wfeael
(b) =i

(c) el

(d) sifez

(I 1 wasia Sfeege T sAfiad w0 e

(a) @ cotlBret
(b) @I coAlBre =
(c) o= M=

(d) R e

@S T wfe wfiw CO, I& € 9429 T

€ N AIET CF( (F 279 I 2

48.

49.

50.

[ 12 ]
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51.

The Cellular organells devoid of unit

membrane is

52.

is

53.

54.

(a) Lysosome
(b) Microbody
(c) Golgi apparatus
(d) Ribosome

The W.B.C. which is rarest in human blood

(a) Basophil

(b) Monocyte
(c) Neutrophil
(d) Eosinophil

Kupffer cells are present in
(a) Small intestine

(b) Liver

(c) Pancreas

(d) Thyroid gland

How many lobes are present in right lung

of man?

5S.

(a) Twolobes
(b) Three lobes

(c) Four lobes
(d) Five lobes

The outer covering of the brain is called
(a) Pleura

(b) Pericardium

(¢) Germinal Epithelium

(d) Meninges

51.

52.

2

53.

54.

5S.

[ 13 ]
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56.

57.

58.

59.

was

60.

61.

History

‘Merchant of Venice’ was written by
(a) Francis Becuon

(b) William Shakespeare

(c) Edmond Spencer

(d) Cicero

The capital of Charlemagne was at
(a) Rome

(b) Berlin

(c) Akhen

(d) Paris

What happened on 14th July, 1789?
(a) Boston Tea Party

(b) Tennis Court Oath

(c) Fall of Bastille

(d) In America the Declaration of
Independence was announced

Probably the Oldset University of Europe

(a) Oxford
(b) Bologna
(c) Salarno
(d) Cambridge

The second Battle of Tarain took place in
(a) 1027 A.D.
(b) 1191 A.D.
(c) 1192 A.D.
(d) 1206 A.D.

Who discovered the sea-route of America?
(a) Christopher Columbus

(b) Vasco-da-Gama

(¢) Vasco-Nunez-de-Balboa

(d) Amerigo Vespucci

[14]
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62.

63.

64.

65.

66.

67.

68.

Who invented ‘Printing Machine’?
(a) John Gutenburg

(b) Roger Bacon

(¢) Francis Bacon

(d) James Watt

The battle of wandiwash took place in
(a) 1757 A.D.
(b) 1759 AD.
(c) 1760 A.D.
(d) 1763 AD.

The last Lodi ruler of the Lodi dynasty was
(a) Bahlol Lodi

(b) Ibrahim Lodi

(c) Ilias Lodi

(d) Sikandar Lodi

The parliament of Russia is known as
(a) Duma

(b) Congress

(c¢) National Convention

(d) Reich Stag

‘The persian Letters’ was written by
(a) Rousseau

(b) Mabli

(c) Voltaire

(d) Montesquieu

‘Akbarnama’ was written by
(a) Akbar

(b) Badauni

(c) Abul Fazl

(d) Nizam-ud-din Ahmad

The first president of the U.S.A. was
(a) Thomas Jefferson

(b) Jhon Kenedy

(c) Abraham Lincoln

(d) George Washington

[15]

62.

63.

64.

65.

66.

67.

68.

T (S ONRE FE 2
(a) = amiceeTatel

(b) F=F &

(c) TP &=

(d) cemmy A

IRICT = A<Ebe 27
(a) 1757 AR
(b) 1759 Fdicz
(c) 1760 FBicw
(d) 1763 Iz

@7 R T = feee
(a) T G

(b) e @

(c) 3ferdT (=i

(d) PrE™IE @i

T AT IoT =W
(a) o

(b) e

(c) IS FACS*Iq
(d) =iz Byiel

7 AR @FTORT T5 TR
(a) ot

(b) wrafer

(¢) oo

(d) CTF

GBI Fo! A
(a) XA

(b) wIeH

(c) oIt e

(d) FEIN-Sfwe-srzrm

SR ISR 22w oIS fare

(a) T3 (SR
(b) & &G
(c) o= forza
(d) orer SxIf#IGa



69.

Who among these was not a leader of Santal

Rebellion

70.

71.

(a) Chand
(b) Sidhu
(c) Birsha
(d) Kanhu

The partition of Bengal was annulled in
(a) 1905 A.D.
(b) 1909 A.D.
(c) 1911 AD.
(d) 1912 A.D.

‘What was the immediate cause of the Revolt

of 18577

72.

(a) The annexation of Awadh

(b) The refusal of the British to Pay Nana
Sahib

(c) The introduction of Doctrine of Lapse

(d) The introduction of the new Enfield
Rifle

The ‘Indian National Army’ was formed by
(a) Netaji Subhas Chandra Bose

(b) Captain Mohan Singh

(c) Rashbehari Basu

(d) Shahnwaj Khan

[16]

69.

70.

71.

72.

G N (&Aoo [wiEd @o! foew™ =t
(a) Bm

(b) By

(c) ==

(d) 1=

IR v F

(a) 1905 FBCw
(b) 1909 i
(c) 1911 FBiw
(d) 1912 ARic=w

1857 Bicwra sfkemices dors Fid & feei e
(a) SRR AYfewael

(b) =11l ACIS ©hel I5

(c) FeReEel Tfea =l

(d) TG GfFT ABETT ATS

(a) GToI&! ol 7
(b) WICHT 1z B
(c) sl 9

(d) =iEaere A



Geography gralie

73. N FIEE BN AT I TS 6, s
ST O (SIFAE 951 | @ BeGa Wi 2@

73. The local time at a place is 6a.m. When
G. M.T is 3a.m. The longitude of that place is

(a) 45°East (a) 45°%F
(b) 45° West (b) 45° oIf%ow
(c) 135°East (c) 135°F
(d) 135° West () 135°#fow
74. The upper part of the Earttis crust, i.e, ‘SIAL’ 74. +ffRF7 T Tolfseta widie BrEr o
is composed of TRE@
(a) Acidicrocks (a) nfass et =izl
(b) Basicrocks (b) = et T
(c) Neutral rocks (c) 2 e ==
(d) Semineutral rocks (d) 2R oIS it ==l
75.  Which of the following formed by glacier? 75.  fsfeiis i feaiz am oife
(a) Breccia (a) Pl
(b) Philite (b) fwTRE
(c) Tilite (c) Toeiizp
(d) None ofabove (d) @I
76. Which climatic region has the least 76. (I SRR SR SRS 2P AR 1 2
temperature range? (a) =PRI SRy e
(a) Equatorial region (b) G TEAIY ST
(b) Monsoon region (C) GIER STy e

(c) Tropical region
(d) Mediterranean region

[17]

(d) SRR GERIY ST

77. The main reason for the shifting of pressure 77, ~ffRCS 1A T 2 ARTECT et i
belt of the Earth is 2
(a) Swing ofangle of inclination of Sun rays (a) =R A sifoq e st stow
due to Earth’s revolution I #IfFaee
(b) Shifting of Longitude of the Earth (b) [T @R TN oS
(c) Shiﬂing of Cyc‘lor‘lic belt of the Earth (c) &S 3RS TR 7 SIS
(d) gaigontal variations of pressure on the (d) G-+{r¥a Boir A leela O
78. The line joining the places of equal pressure 78.  E S T TS ZAAT Ll
of sea-level is called (e <=
(a) Isotherm (a) TCI=e i
(b) Isobar (b) T =l
(c) Isohyet (c) TR
(d) Contour (d) FCEfs @2



79. ‘Ring of Fire’ refers to
(a) RingofEarthquake
(b) Five Permanent members of U. N.
(c) Circum-Pacific seismic belt
(d) Five continents

80. Whichrock is composed of a single mineral?
(a) Granite
(b) Basalt
(c) Rhyolite
(d) Rocksalt

81. Which area is famous in terms of ‘Capital of
Sardin Fish’?
(a) California
(b) Spain
(c) France
(d) Japan

82. Which of the following State of U. S. A is
known as the ‘Sunshine State’?

(a) Florida
(b) Kansas
(c) Texas
(d) Louisiana

83. Mt. Mauna Loa, the highest volcano of the
world is situated in the

(a) Polynesialsland
(b) Melanesia Island
(c) Micronesia Island
(d) Macronesia Island

84. Which country is called the ‘Land of Living
Fossils’?

(a) India
(b) Australia
(c) Mexico
(d) Brazil

79. ST @A TS
(a) SfeRC @
(b) U.N.-a3 i =i 5w
(c) 2MIIG SRINCER BIFAIHIT g To1
(d) ot s

80. &G Wg Ufe s @ oifde Renfs 2o
(a) 295
(b) AT
(c) TN
(d) CrEeRe

81. @I wieEA AEw Mg Areial 2o Riegre 2
(a) WFiferifa
(b) ¢
(c) T™
(d) st

82. fawferfie e 2 U. S. A-«3 Sfeael ey’
I ffoe ?
(a) el
(b)
(c) &HA
(d) =P

83. ~faSa M e ATT CIER =g

(a) T Bsiog
(b) IR BIoofE
(c) WRTEEM Rstog
(d) SOiCEI=R=I Aotjeg

84, @ MHE GRS GIRICIR (%l e 2
(a) =l
(b) g
(c) I
(d) afert
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8s.

86.

The ‘Sudd’ isa

(a) Greatmass of swamp vegetation float in
the section of the river nile and obstruct
the movement of boats

(b) High land area in sudan

(c) Mass of vegetation stopping the stream
flow of Amazon

(d) A type of fodder crop grown mainly in
Africa

The landform, on which the ‘Death valley’ of

North America is developed

87.

(a) Low synclinal valley
(b) Deep fault
(c) Techtonic low land

(d) Large depression developed by fall of
heavy meteor

The ‘Central Massiff’ of France is an

example of

88.

89.

(a) Fold Mountain
(b) Block Mountain
(c) Dissected Plateau
(d) Volcanic Mountain

The term ‘Eutrophication’ is relatad with
(a) Noise Pollution

(b) AirPollution

(c) Water Pollution

(d) Soil Pollution

Which of the following practices of cultivation

can be referred to as ‘Crop-rotation’?

90.

(a) Different crops in different seasons

(b) Different crops in the same season

(c) Different seasons and different method
(d) None ofabove

How many ‘Race’ is in our world?
(a) One
(b) Two
(c) Three
(d) Four

8s.

(a) TTE G0 SR (TR oAfosiel @it
fRieT SPTNI TeTer Sfgesm)el/ ool Sizea]

(b) I T G

(c) SINETR 2312 Al Sfgn/ o=

(d) wifEam Seslite «F 2513 e AW

86. Ted WP Tg Toiord Al ©Aeifer @
ST T oItT Srote (it 2o
(a) % e Sorest
(b) srepfs
(©) wolidfes foref

87.

88.

89.

(d) R=iieToR THisiiced 0 778 28 SRS
o

T CIHIE W 25 @6
ORSECEES

(b) B9l oIS

(c) yafoza eTgf

(d) wcaT oI s

TG IR 72U TifFe
(a) ==wvd

(b) A

(c) wetvEe

(d) fesl gaee -a2 e

fafiis @ aem IR “@mRes FRE

AR TS

90.
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GOVERNMENT OF WEST BENGAL

DIRECTORATE OF SCHOOL EDUCATION
NATIONAL MEANS-CUM-MERIT SCHOLARSHIP EXAMINATION, 2013

(FOR STUDENTS STUDYING IN CLASS VIII)
Mental Ability Test

Roll No. 1

Full Marks : 90
Time: 90 minutes (11-00 AM to 12-30 PM)

Instructions to Candidates

Read the instructions carefully before you start

Class-VIII Code State Code Year Code Centre Code Serial No.
213 13
A5 ¢ HO
IR & o [T (R 3 5-005] (AP [T 52-00 [3ieb)
AFrwIinr elfs Foeiest
Asi7 Ted (e o e Mot fe s fa #fe |
Teaufer foq Teaeitg fte 27 |

answering the questions. Answers are to be given on a
separate Answer-Sheet provided.

1. In this Paper you are to answer 90 questions.
Each question carries one mark. You are to answer all the
questions.

2. Find out the correct answer to an item given
in the test booklet out of alternatives @, @, @

and @ and put a cross-mark inside the circle @

surrounding the corresponding correct answer to the item
in the Answer-Sheet.

Example : @, @, @, @
(Here ‘b’ is the correct answer.)

3. Itmay bepresumed thatthe answer given by you
in the first attempt is incorrect and you want to revise
your answer. Blacken the circle completely and then put
across-mark afresh inside the circle you think right. You
are not, however, permitted to revise your answer more
than once in each case.

4. However, there will be no penalty marks for a
WIOng answer.

5. You are to start recording answers with the
word ‘start’ from the Officer-in-Charge of your room/hall.

6. You are to write your name and Roll No. in the
space provided for this purpose on the Answer-Sheet
and Roll No. only on the cover-page of the Question
Booklet. Do not write your name in any part of the
Question Booklet.

S| @3 otg (6 sofb Amid Ted forere 7@ | 2fel
AT TEEA T S (4F) | (OIS 74 208F oad fee 2 |

2 e (reml @3 AW (a), (b), (o) @<k (d)
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=5 7 oz ) me

srear: @ B © @
(G b’ T APF T 1)

o (@ TeF METF #7 M (Ol S 2 @ el
AT, OR AT TG O; @ FRNG FAS BiRce
e Teaibes e Fifer e i 3 wie R @
T core A9 3 2@ A e @ o (X) mie |
@2 19l &l SR (0T GFAE @R (e 2 I

81 TF TGEE Gl AF TG AW ANE Wi (ACE
W (e W [fers 2 =1 |

€l AIF-ICFT oA NEFFS start’ I WG
Ted el UF 39|

Y| ey SiEfe TN 8 FiE 12 Teaeiad
RS e oo 2@ | 2eitaa @I I W1 @1l AR
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MENTAL ABILITY TEST

(Questions 1—10)

DIRECTION: In each of the questions 1 to 10,
there are four items, three of which are alike by
some means or other while one is out of the class.
Find out the odd item and indicate your answer by
putting a cross-mark (x) inside the circle of the
corresponding item on the Answer-Sheet.

[Tt 3 1 (2t 10 7% 2o 2es Bidib 3 1% Wi,
W foi (@ (FITSIE G IR PG!S |
G2 A AU ANE S Tea+iaq e 08 X Bz
e coiz Tea fifae w4 1]

1. (3
(b)
(©)
(d

(a)
(b)
(©)
(d

(a)
(b)
(©)
(d)

(a)
(b)
(©)
(d)

(a)
(b)
(©)
(d)

(a)
(b)
(©)
(d)

(a)
(b)
(©)
(d)

Dhaka
Baghdad
Japan
Delhi

Triangle
Pentagon
Parallelogram
Cone

Volume
Walt
Second
Joule

Rose
Couli-flower
Jasemine
Merrigold

Tennis
Clothes
Boxing
Badminton

Gold
Brass
Silver
Sodium

Lithium
Calcium
Sodium
Potassium

[3]

8. (a)
(b)
(©

d
(a)
(b)
(©
d
(a)
(b)
(©
(d

(Questions 11—20)

DIRECTION: Read the questions carefully and
give the answer by putting a cross-mark (x) inside
the circle of the letter denoting your selected
answer on the Answer-Sheet.

(o 2 el SiETeE s e s Tenefie S
(AT AT Teals e a1 Teaitan [Wiws 308 < oz
uca fofese w11 1]

11. ‘Doctor’ is related to ‘Patient’, in the same
way ‘Lawyer’ is related to

Eye
Hand
Leg
Finger
March
February
January
August
Milk

Oil

Kerosene
Juice

10.

(a) Customer
(b) Magistrate
(¢) Criminal

(d) Client

12. ‘Atom’ is related to ‘Molecule’, in the
same way ‘Cell’ isrelatedto
(a) Matter
(b) Nucleus
(c) Organism
(d) Battery

13. ‘Flower’ is related to ‘Petal’, in the same
way ‘car’ is related to

(a) Wheel
(b) Passenger
(c) Luggage
(d) Garage




14. ‘Teacher’ is related to ‘Education’, in the
same way ‘Architect’ is related to

(a) Crops
(b) Films
(c) Designs
(d) Cloths
15. ‘Bird’ is related to ‘Nest’, in the same way
‘Eskimo’ is related to ______
(a) Stable
(b) Igloo
(c) Palace
(d) Web
16. ‘Beautician’ is related to ‘Parlour’, in the
same way ‘Nurse’ isrelatedto
(a) College
(b) Library
(c) Hospital
(d) Club
17. ‘Force’ is related to ‘Newton’, in the same
way ‘Weight’ is related to
(a) Second
(b) Ampere
(c¢) Kilogram
(d) Joule
18. ‘Chaos’ is related to ‘Peace’, in the same
way ‘Kind’ is related to
(a) Weak
(b) Rejoice
(c) Alertness
(d) Cruel
19. ‘Plant’ is related to ‘Tree’, in the same
way ‘Foal’ is related to
(a) Deer
(b) Horse
(c) Elephant
(d) Lion
20. ‘Fire’ is related to ‘Ashes’, in the same
way ‘Explosion’ is related to
(a) Flame
(b) Death
(¢) Sound
(d) Debris

[4]

(Questions 21—30)

DIRECTION: In each of the questions 21 to 30,
some codes have been used to write words. Try to
find out the rule of coding in each case and answer
as per direction in the Answer-Sheet by putting
a cross-mark (x) inside the circle of the correct
alternative on the Answer-Sheet.

(et 3 21 (2t 30 5% 2fel et =17 @147 ooy 5y
MFe [IRF 4 TR | 2fS (g AFORE #FT0
SR I (BB 9 @R AIF [KHGE X oz W
T ot 9 1]

21. If ‘GIRL’ is written as ‘FJSK’ in a certain
code, then how would ‘BOY’ be written in the
same code?

(a) CPX
(b) APX
(c) APZ
(d) CPZ
22. If ‘HAPPY’ is written ‘IBQQZ’ in a

certain code, then how would ‘SORROW’ be
written in that code?

(a) TPSXX
(b) TPSXS
(c) TPXXP
(d) None of these
23. 1If Code for ‘SET’ is ‘UGV’, then what
would be the code for ‘BRICK’?
(a) CSIDL
(b) DSJEM
(c) DTKEM
(d) DTKFM

24. IfM =13, Then KITE="?
(a) 45
(b) 30
(c) 40

(d) 20



25. If ‘RAJU’ is coded as 11-12-13-14 and
‘JUNK’is coded as 13-14-10-9. Then how will you
code ‘RANK’?

(a) 9-10-11-12
(b) 11-12-10-9
(¢) 12-11-10-9
(d) 10-11-12-9

26. In a certain code Language ‘786’ means

‘Study very hard’, ‘958’ means ‘hard work plays’

and ‘645° means ‘Study and work’, which of the
following is the code for ‘Very’

(@ 8
(b) 6
(c) 7
(d) None of these

27. In a certain code Language ‘BAT is
written ‘YZG’. How will ‘SICK’ be written in that
same code?

(a) HRXP
(b) HRZP
(c) RHPX
(d) HRYV
28. If ‘ACNE’ is coded as 1-3-14-5, then
‘BOIL’ will be coded as—
(a) 5-31-21-25
(b) 2-15-9-12
(c) 5-29-19-25
(d) 5-29-19-27
29. In a certain code language ‘DOME’ is
written as ‘8943’ and ‘MEAL’ is written as ‘4321°.
What group of letters can be formed for the code
38249°?
(a) EOADM
(b) MEDOA
(c) EMDAO
(d) EDAMO

30. If ‘Parrot’ is known as ‘Peacock’, ‘Peacock’
is knows as ‘Swallow’, ‘Swallow’ is known as
‘Pigeon’ and ‘Pigeon’ is known as ‘Sparrow’, then
what would be the name of Indian National Bird?

(a) Parrot
(b) Swallow
(c) Peacock
(d) Pigeon

(Questions 31—35)

DIRECTION: Read the following information
carefully and answer the questions 31 to 35 based
on it by putting a cross-mark (x) inside the circle
of the letter denoting your selected answer on the
Answer-Sheet.

(ot ¢ Tiws s it T 7T @ O ey fofe
33 1% Tealba sps srrafbes fuca < oz e 31-35
N epiefr Teg we |

A, B, C,D, E, F and G are seven members
of a club. Each of them likes one day of the week
viz. Monday, Tuesday, Wednesday, Thursday,
Friday, Saturday and Sunday, not necessarily in
the same order. Each of them owns a different car
type viz. Swift, Alto, Figo, Beat, Sx4, Estillo and
Optra, not necessarily in the same order. C likes
wednesday and his favourite car is neither Sx4 nor
optra. E does not like Monday and his favourite car
is Beat. The favourite car of the one who likes
Friday is Figo. The one whose favourite car is
Estillo likes Tuesday. D likes Saturday and D’s
favourite car is not Sx4. G’s favourite car is Alto. F
likes Thursday. B does not like Estillo.

31. Who amongst them likes Tuesday?
(@ A
(b) C
(c) B
(d) None of these

32. Whose favourite car is Figo?
(@) A
(b) B
(c) F
(d C

33. Who amongst them like Sunday?
(@) A
(b) C
(c) F
(d E

34. Whose favourite car is Sx4?
(@) B
(b) A
(c) F
(d D



35. Which of the following combination is
correct?
(a) F—Thursday—Estillo
(b) C—Wednesday—Swift
(¢c) G—Monday—Alto
(d) All are correct

(Questions 36—45)

DIRECTION: In each of the following questions,
a number of series is given with one of the terms
missing. Choose the correct alternative that will
continue the same pattern and replace the question
mark (?) in the given series.

[ 8 36 (AT 45 7% 2l ar fg e @i
e @3B R AW (S 2R | RAE felcs TR (7)
orza B AT Teal Teasitas WS B BiolT 34 1]

36. 21,23,27,33,?
(a) 37
(b) 41
(c) 43
(d) 49

37. 2,10, 30, 68,7
(a) 125
(b) 130
(c) 128
(d) 135

38. 1,8,27,?
(a) 41
(b) 64
(c) 35
(d) o1

39. 2,6,12,2,30
(a) 18
(b) 24
(¢c) 20
(d) 26
40. 1,2,10,37,101,?
(a) 402
(b) 206
(c) 226
(d) 320
41. 1,6, 15,?,45, 66,91
(a) 25
(b) 26
(c) 27
(d) 28

42. 68,67, 64,59,?
(a) 52
(b) 353
(c) 54
(d) 56

43. 6, 13,25,51,101,?
(a) 201
(b) 202
(c) 203
(d) 205

44. 32,19, 18,?
(a) 12
(b) 3
(© 1
(d) 5

45. 2,15,41,80,?
(a) 111
(b) 120
(c) 121
(d) 132

(Questions 46—55)

DIRECTION: In each of the following questions,
arrange the given five words in a meaningful
sequence and then choose the most appropriate
sequence from amongst the alternative. Mark the
right alternative in the Answer Sheet.

[fFowst 2 va 2fST ao Al s s qw@m @@
ARG (A G TLsjef A7l TSI @02 AEce 2(J |

T Remefm @ G2 1T 7% Fae A
@z e O3k Tearitg fbfze F11]

46. 1. Country,
4. Wood, 5. Trees

(a) 1,3,5,4,2
(b) 1,4,3,2,5
(c) 2,4,3,1,5
(d) 5,2,3,1,4

47. 1. Mother,
4. Cry, 5. Smile

2. Furniture, 3. Forest,

2. Child, 3. Milk,



48. 1. Poverty, 3. Death,

4. Unemployment,

2. Population,
5. Disease

49. 1. Curd,
4. Milk, 5. Co

2. Grass, 3. Butter,

50. 1. Index, 2. Contents,
4. Chapters, 5. Introduction

3. Title,

51. 1. Diagnosis, 2. Doctor, 3. Sick,
4. Treatment, 5. Recovery

(a) 1,2,3,4,5

(b) 3,2,1,4,5

(c) 2,1,3,4,5

(d) 4,5,1,3,2

(Questions 56—65)

DIRECTION: In each of the questions 56 to 65, a
figure or a set of figure is given, each of which
bears certain numbers following a certain pattern.
You have to decipher this pattern and accordingly
find the missing number in the figure.

3

5
56. 1 2 2@3 4 7
7

52. 1. Destination, 2. Booking, 3. Boarding,
4. Travel, 5. Planning
(a) 1,2,3,4,5
(b) 3,4,5,1,2
(c) 4,3,1,2,5
(d 5,2,3,4,1

53. 1. AndhraPradesh,
3. Tirupati, 4. World, 5. India
(a) 1,5,3,2,4
(b) 2,1,3,5,4
(c) 3,1,5,4,2
(d) 5,4,2,1,4

54. 1. Collector,
Secretary, 4. President,
(@ 1,2,3,4,5

2. Universe,

2. Governor, 3. Chief

5. Clerk

55. 1. Site, 2. Plan,
5. Building

(a)

3. Rent, 4. Money,

[Tt 3 TEa 56 (AT 65 #1F® s 2o @ a1 9P
fog a= | 2fef forg wiam e g A @l =iz |
a3 el gt FMe [Remes s o 3w
7o @3 RePiasis et foreemt 5% (2) (9 @iv k40 =@

o 61 1] \

4 5
(a) 4 (®) 5 (c) 6 (d) 8
57.
6 5
] )
(a) 127 (b) 31 (c) 217 (d) 238

[7]



58. 5|3
22 5
3138
@ 1 (b) 26 (c) 39 (d) 45
59, v ‘ v ‘
@) 15 (b) 18 (©) 20 (d) 24
" \ﬁ \/ \/
;
© @) @
@) 5 M) 6 © 8 ) 9
61.
&/ o \@ 3/ 5 \O ®/  \@
©) @ ©

(a) 62 (b) 51 (c) 58 (d) 49
[8]



©)

(d) 12

(d 9

62. @ @
@ 2 |® ®)
@ ®
(a) 14 (b) 15 (c) 13
63. 5
3
15
(a) 13 (b) 10 ©) 12
64.
@
?
® @
(a) 13 (b) 10 () 9
65.
7
6
412
9 (49
8 2
9
(@ 1 (b) 3 (c) 64

[9]

(d) 12

(d) 121



(Questions 66—70)

DIRECTION: This section deals with questions
on simple mathematical operations. Here, the four
fundamental operations addition, subtraction,
multiplication and division are represented by
symbols different from the usual one. You have to
solve the problem by substituting the real symbol
accordingly.

[T 2 66 (At 70 #=FQ aaf sifafes afeme e
ToifFe | QA @il e, @ g9z elel @3 o
offefes afewics oz @il Afve w1z oM

oo ozl i o «ftafee w@ et e
FICO [ ]

[3 b [3 b €. 3

66. If ‘+’ means ‘-, ‘X’ means ‘+’, ‘=’ means
‘+” and ‘~” means ‘x’, then which of the following
will be the value of expression?

(7x35+2-4+5)
(a) 4

(b) 5

(c) 11

(d) None of these

67. If ‘P’ denotes ‘x’, ‘T’ denotes ‘-, ‘M’
denotes ‘+’ and ‘B’ denotes ‘+’,then 12P6 M 15T
16B4="7

(a) 70
(b) 83
(c) 75
(d) 110

68. If ‘x’ means ‘+’, ‘+’ means ‘+’, ‘=’ means
‘<’ and ‘+’ means ‘—’,then6x4-5+2+1=7
(a) 10
(b) 11
(c) 12
(d) 15

69. If ‘— stands for ‘+’, ‘+’ stands for ‘x’,
stands for ‘" and ‘x’ stands for ‘+’, then which of
the following equation correct?

(@A) 4x5%x9+3+4=11
(b) 4—-5+9%x3-4=17
(c) 4+54+49-3+4=18
d 4+5%x9+3-4=15

[3 b 3 b [3 b [3 b

70. If ‘+’ means ‘X’, ‘X’ means ‘+°, ‘+’ means
‘~> and ‘-’ means ‘<’ find the value of
(3><41+5—6+7):?
(a) 15
1
(b) 13

(©) 13
(d) None of these

[10]

(Questions 71—80)

DIRECTION: In each of the questions 71 to 80,
three out of four figure are alike in some respect
and one is different from others. Find out the odd
figures in each question and indicate your answer
by putting a cross-mark (x) inside the circle of the
corresponding letter on the Answer-sheet.

[fFodt s 71 (A 80 +1F® eiefia erebee (e
v vfcas W foafoa @ =1 @ e et wiieg @<k
@6 TelEg (A o | 2l 20 @ Sem IFER
foalb @@ 03 Teasitan MR 2wl 290 Joea sy
(x) oz i 717 Teafs e w41

71.

DIOIO|O

a b C

72.
DX DA
a b c d
73.
> o |H |«
a b c d
74.
e O
a b c d
75.

AN O

a b C

a| DI



76.

77.

78.

79.

80.

THT Lyt

Tyt

a b c d
CSHORSRNE
a b c d
NVASVANPAY

a b ¢ d
1D

o0

DO

(Questions 81—85)

DIRECTION: In each of the questions 81 to 85
there is a short of blood relation puzzle. You are
required to ascertain the final relation. Indicate
your answer by putting a cross-mark (x) in the circle
of the corresponding letter on the Answer-sheet.

(o ¢ 81 (AT 85 71w 2felh Aty 7w FI=ifFe Hyr
IR | (oW e 2o AlGS T4 ofar <1 | Teasicaq
AR @ 3 < Bz e Al Teaflt Hizw w1

81. Pointing towards a person, a man said to a
woman, ‘‘His mother is the only daughter of your
father’’. How is the woman related to that person?

(a) Daughter
(b) Wife

(c) Mother
(d) Sister

82. Showing the lady in the Park, Vineet said,
‘‘She is the daughter of my grandfather's only
son’’. How is Vineet related to that lady?

(a) Brother
(b) Father
(¢) Uncle
(d) Cousin

83. Ramesh is the brother of Amit. Sushma is
the sister of Satish, Amit is the son of Sushma.
How is Ramesh related to Sushma?

(a) Father
(b) Brother
(¢) Son

(d) Nephew

84. A boy introduced a girl as the daughter of
the son of the father of his uncle. The girl is the
boy's .
(a) nephew
(b) sister
(c) aunt
(d) cousin

85. ‘A’ is the brother of ‘B’. ‘C’ is the father
of ‘D’. ‘E’ is the mother of ‘B’. ‘A’ and ‘D’ are
brothers. Then what is the relationship between
‘E’ and ‘C’?

(a) Sister
(b) Sister-in-law
(c¢) Niece
(d) Wife

[11]



(Questions 86—90)
DIRECTION: Read the questions carefully and

3

answer the questions giving ‘x’ mark against
correct answer.

(ot 2 Awa el ag FeiE #ite 7o Tem X
oz e Taa o 1]

86. (3957)*=7
(a) 15657844

(b) 15657849
(c) 15657846

(d) 15657847

87.

() M
(b) P
() K
(d R

[12]

88. You have ranked 15th out of 40 students
of your class. What is your rank from the last?
(a) 23rd
(b) 24th
(c) 25th
(d) 26th

89. How many squares are there in this figure?

@9 (G 11 (¢ 13 d 14

90. How many triangles are there in this figure?

@6 B 7 € 8 (@ 9
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1 c 31 a 61 b 1 d 31 C 61 a
2 d 32 b 62 a 2 a 32 a 62 a
3 a 33 d 63 d 3 C 33 d 63 C
4 b 34 c 64 d 4 d 34 d 64 b
5 b 35 d 65 a 5 a 35 a 65 a
6 b 36 b 66 b 6 C 36 C 66 a
7 b 37 b 67 b 7 C 37 C 67 C
8 a 38 b 68 d 8 b 38 a 68 d
9 b 39 c 69 d 9 a 39 a 69 C
10 c 40 c 70 a 10 b 40 a 70 C
11 d 41 d 71 C 11 C 41 C 71 d
12 c 42 a 72 d 12 c 42 b 72 c
13 a 43 c 73 d 13 d 43 a 73 a
14 c 44 d 74 b 14 a 44 d 74 a
15 b 45 d 75 d 15 C 45 b 75 C
16 c 46 a 76 d 16 d 46 d 76 a
17 c 47 b 77 c 17 a 47 b 77 a
18 d 48 b 78 d 18 C 48 ¢ 78 b
19 b 49 a 79 c 19 b 49 c 79 c
20 d 50 b 80 d 20 a 50 a 80 d
21 b 51 b 81 C 21 d 51 d 81 a
22 d 52 d 82 a 22 b 52 d 82 a
23 c 53 c 83 c 23 c 53 b 83 a
24 a 54 b 84 b 24 d 54 b 84 b
25 b 55 a 85 d 25 b 55 d 85 a
26 c 56 c 86 b 26 C 56 b 86 b
27 a 57 C 87 c 27 a 57 C 87 C
28 b 58 c 88 d 28 c 58 C 88 C
29 d 59 a 89 d 29 a 59 C 89 a
30 b 60 d 90 d 30 C 60 ¢ 90 d




